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E Max Hours: 03 hrs : Max Marks; 100 ‘
R —. L e i
; i Date of Examination: : :
, T T T TP EE PP T T R ELEELEEE o iveeesesesesesasssscssmamessmmoooomosmoooocs !
| ! Instructions for Candidate: i
€0 1 ___________________________________________________________________________________________________
[ . : 1) Before Cp une 1cement of the exam yead mstmcuons carefully. :
LTIET ws'gm ﬁ%ﬁ uwmé 5 :

n

v ;
5 meanings from English version \\xll prevail.
: tmwmﬁWmﬁﬁﬂmﬁmmm?ﬁum‘ﬂ CrEiae
S T ANE ) ;
'3) Mobile calculatorsipagers etc. are not allowed in the exam hall, othenwise candidates will be '
1 gdebarred from the examination. :
R Ea e SR doi SIS B Ak e, o SR @ WA S
i ofa &4 STTI)
2) Candidate should not write his'her name, put histher signature/made ﬂn) other marking on the |
! Answer sheet which discloses hisher identity. A :
{ o o o T UR S AT e e Ay, 1 S S GRAR e e T |
_5 a’g‘mﬁ@'ﬁwﬁmmmmm—aﬁmﬁ—ﬁ) i

¢ 3) There will be no nagative ma.rhn_\for ifncorrect answers.

W—Tﬁﬁﬁw\’:{_ﬁﬁ"ﬂm

5 6) Use onl'y black or blue pen for \mtmv the exammmon_ : :
P gl e & ﬁaq*a—ﬁ'@far#w—'r‘rm—ﬂ : 5
:: P ST—iR.T s sm E
foeoccmsommmemecmocesmsememesessssmssoossmssSssSSToTosSoTsTmsosmsooooosonoToToTIIIRisTITTETTTTT :
: Part - I (General)
; (40x1=40.marks) | .

! 1. Which is the largest wildlife sanctuary in India ?
‘ ﬂmn?ﬁ?‘!m JWW-HTE-

2. Jim Corbert National Park/ . b. Ranthambore National Park ;
: o @rec TPHa e | YO TP S ;
¢. Bakhira wildlife sanctuary ; d. Dalma Wildlife sanctuary. .
; ClicHERE] ; A1 eI SHARTY 5
: 2. Which Indian scientist is known as the "Missile Man of Indja"? :
' fog URGT aeH® @1 “HRd @l frargd H- TG 82 ;
!’ """"""""""""""""""""""""" e rsi wr See vmnien SE e RN R FE e Rl ey e e |
! 2. Dr.A PJ Abdul Kalam i b. Dr. Homi J. Bhabha .:

—
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¢ R ) P L L LT T PP R et e AR :
é-é%hém Sarabhai 1o 4 DE Oy Raman !
e PR '; ST 41 df v :
i bl SR T T B R S e :
{ 3. Find the e 770 i th oo aaton | b i i
3 ﬁg%t_}%_gn%mg number i the following series 1,8, 27, . 125, ;
becenn S0 SOREELS 0y, 125 H o ST 31 i 5
L b 30
R T S — NP e 5
L64 _______ bt e dy :
3 RN e WM Aot T S 5
' 4, Which gag 1sthem ------------- e E
: ¥ o dost abundant in Eartly's atmosphere? :
LS P S Y e U =B H U et 2o ;
C N I\Iethmelﬁ'aﬁ d. Nitrogen | AZEIoH
5.Inagiven _code.SISTER 1s coded as 535301 UNCLE as 84670 and BOv as 129 How is :
t BETTER written in the code :
e e T i
b A 63318s i b 103301 ;
i c. 363813 ' d. None ofthe above W%ﬁé =g ¢
i 6. Which country is the largest producer of coffes in the world?
i O HDIP] B 4ed 591 SAUGEH e BN w2 y
{2 India/ YR l

% : e . :
W e s e
L ----- : \1ount).\1hman_13f0 HISE TohfesoRy b Mount Fujis WW __________________
N ———— -a"’*-‘::‘:‘-‘-'-qg%f___i_____“___}{?{‘{‘ff}'ﬁf?ﬁf;_ﬁ??ﬁﬁ‘? ____________
Lg-“,:.;'hatcrop15 f%mmo%sliﬂg%% in the regioq of D:irjeeling??
R T e e
L |4 Com/yg |
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N e e
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i 12. The sum of the digits of a two-digit number is 15 and the difference between the digits is 3.
: What is the two-digit number?

T 3D ol T & D 1A 15 § 3R 2151 & S1a 3l 2tk 3 51 & 36| & S 1 82

b2 69 A
, c. 96 d. None of the above / FTHH gl
E ; Tl ;
213 Look at this series: 7, 10, 8, 11,9, 12, .. What number should come next?
L YT B 6 7, 10,8, 11,9, 12, ... STE BIF T F6% AT AMSY? :
E. a 7 g b. 10 E
b g1 14 . 13 i
: 114 A train 360 m long is running at a speed of 45 km'hr. In what time will it pass a bridge 140 m
: long? :
E 360ﬁaﬁrﬁ4~mﬁaaﬁﬂﬁ"ﬁﬂa®‘6lH‘c»'notﬂ‘?c W qa @ fas 9Ra | |
L UR @ :
b2 33secs/359d REtp, 4S-secs4..8 - JpS - .
c. 40secs 40 HHS d .;gsecg.;;m ------------------------- '
.................................................. T T B o T g v oy
: 3

A ) i e e gl e e A
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l ! 16. A shopkeeper sold an article for Rs. 25

15, 10%0f 280187

2WOTTH0% 87 e
- g B T T s e
: PN 1 R L A G L T TR S

re===n

e mmepmeemmpe=—=q

500. If the cost price of the article 15 2000, find the profit

...........................
.........

.......................................

; pé\rﬁﬁmﬁ@a@mﬂﬁl 2500. TTE % BT AP 584 2000 8, T 614 U= 39
£ R IS I i PR it s Sttt b B :
i |
Feregs T s é
17. Synonyms for the word "kaizen"
g "HIZ TG B ] ;
a. Constant Improvement / THIGR FUR § b. Highest Rank ' J3ied UG ,
¢. Calories buming NIRRT IR E d. None of the above / ?—(133 T@E il
. 18.Solve the equation (a=b)(a-b)="?
i IO B 5 B1 (a-b)(a-b) = 2 E
Fa ) bt ach) §
; & @) : d. (@b -
+ 19. Which word does, not belong to others?
b D Y es GERl il e S SR S o E
a. Inch/39 e b, Yard/ TS
b ome i oo o i s s 8 i o o i s i A i A M S S M S NG SR N mN S S En g E
: c. Centimeter! m : d. Kilogram¢ IPRIBIR o - 0ot 0 E
f}'{, """""""""""""""""""""""""""""""

i 1. Pooja is older than Mukesh.
i I1. Suresh 15 older than Pooja.
¢ I11. Mukesh is older than Suresh.

If the first two statements are true, the third statement is




§q%qaama€mwa,ﬁr RIS Ea e 5
{2 False 39 i TroBI G B s |
'_c—Ifnp-o_aﬂ_hle_ ﬁ%ﬁ"_ d. None of the above / STH Y ﬁ R '

1 21.ChatGPT is built by ..._..
i ChatGPT ) FRCEIRIKIEID ;
{2 GoogleAl DUREEIE { b, AppleAl/ UWT G2 E
i ¢ OpenAl/ 3T U3 {4 MicrosoftAl/ FISHIGITE U :
s e e e i
22 What 1s the purpose of a fuse in an electrical circuit?
: TRYY A T @l 71 3529 67 :
a. Toregulate the voltage | b. To prov ide protection against excessive
: dlecs @ (MaTaa B & fau , current / ;
{ : AT Bee QA TEH F |
' c. To store electrical energy ' d. increase the current flow |
; faqga o ol Fgd e d o | YR JaTG @l €G- @

23.Which is the largest mammal on Eagh?

Ted R a9 g51 W] 17 91 67
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! ¢ Hippo; i‘écq\I d. Shark/ = '
é 24 How many railway zones do Indian Railways have as 0f 2023? :
i 2023 TP URGT 3679 & U foe 3ad 9l ) ;
i g 40 gl -:
i e Ce T O gy n LN T R T T e ;
R o L) pd 17 !
25 What is the full form of CAT ? §
¢ CAT®I DA BHTEG? ' :
é a. Central Administration Tribunal / b. Central Administrative Tribunal :
5 Ted Ty fesgd ; Ycq gsAcled fe 5
B e e e e e e e o1 e et e sl e e o s gt b
c. Central Administration Tribe / i d. Central Administrative Trade / ;
; Tcd TS M dH €I3e 5 < ) !
' 26.%Who is the first Railway Minister of Independent India ? E



WA Mii’ﬁ?ﬁ quqiﬂ'ﬁi’f{fﬁlﬁg’.’ ___________ 'thi- -----------------
Uioiislendiomindmmasssnmennsnmrs s 22 ‘ . gardar Vallabhbnat -

a. LalBahadurShastn.Waﬁmi Patel /| FRGR aewid =l i
Fi et 4 sohnMatha SRR
'E 27 Solve the equation: 2x = 5=157

VIHIGRUIGA @R 2x+5=157 i eeedeeeeesecessssemeoeenenaes
é a. x=5 b. x= .

28.Which digital payment system was launched by the National Payments Corporation of India

i (NPCT) 1o promote instant bank-to-bank transactions? o

} T TC] S ¢ TG @I SEIal & & [T 9Me UHCH P RAREH 3Tt SSTT (NPCD) ERT
L 1w STeies Y worel % ol 15 4 :

259.Who wrote the play "Romeo and Juliet"?
TS Slode Ace oo feram
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33. ‘International Literacy Day” is observed on which day?
- SITRIPTE (e <al (Gas Tors foe Femal Siren g2 , :

r . e O e PG S T :
i a2 September Sth: 8 o i b. December 24th/ 24 feder '
¢. January 13th. 15 \GR} ' d. March 31st/ 31 A '

! 34 HUID-Hallmark Unique Identification Number, is associated with which element/product?
" HUID-Hallmark Unique Identification Number &%, [ (00 GedIG § Tl €2 ;
i a Rice TET P b Steel /T E
L ¢ Gold/|FI P4 silver/ TG §

33. Which technology company has launched ‘Threads™ app? ;
g U] Sl 1 ST Ud did (a1 82 ;

{2 Amazon/ HHVH b. Google  TId
:: ¢. Yahoo /dlg d. Meta/ eI .
:: 36. Who is the ex-officio Chairman of the Rajya Sabha? :
b oT U B Uad SHIAG @I ? 5
- a. Vice president /39 Ty . b. Prime Minister | JUT Al :
' c. Lok Sabha speaker TGO e d. None of the above / 3?13{ T ﬁg’ i =55l :
AN A R |
' 37. A fall in the general price level of goods and serviges is knownas __: &
L el iR el o WIHT el W) A TRIGE Bl _ S T H Sl e § :
' a Deflation HTEHIG b. Depression, HadIG '

i\ c¢. Inflation/ J&l BT d. Stagnation/ fRrar :
38. The lowest in rank in the \Maratha infantry was of. P :

b TRIGT e H e (el <@ IR : 5

} 2 Hawaldar SAOER i b Subhedar/ GHAR §
7
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s Wirop s I 0 ; d. None of the above. m'ﬁﬁé’ th q
Gl Nalke HEIEE S L e TNy s i £ \37 -
. 39. MTNL stands for .
MINLTTHE .8 e,
e NG SEVE ) Trust Nigam Limited |
! a Mzhanagar Telephone Nigam Limited/ | D Mzhanagar b
: OGHR ct g 5 TEFIR G 7T [eiiHceS
! ¢ Mzhanagar Telephone Nisarg Limited/ |  d. Metropolitan Ie!egoxlnnllnicatioxl
: ﬂ%ﬁTNE*Eﬂ‘T}I%)ﬁETF e 5 Negwork Limited / X
i | ZEryliced calmg ot qeah
: E NIECS!
£15%. What s the selling price of the

' 40. A man buys a cycle for Rs. 1400 and sells itatalesso

' cyele? N
Ueb M1GHT 1400 T T Us 9iEfed QG

EREEIN

a. 1190 i b 1150
i ¢ 1160 od: 1170
Part - IT (Technical) '

§ corrosion?_
; 3 T YT @ g R GR&Te URa ST @i Wishd] @1 ] gl Sffell 67

S ® e

! b.Galvanizing / TG

| 2 Welding / TS ‘
c.Forging /I L Castinn TR i T
e ssms e B e
: 42 Which type of electromagnetic radiation has the shortest wavelength?
P fedH® g ® 3qciy 98 Y gigl &7
2 Xorays | XX | bRadio waves /TR - -+, s
| Gamma rays | I 3 i icrowayes L TTRTRST £t i S
L o i e AR L R TR ey L I i
fr_'-':B Which fabrication method involves shaping materials by removing parts of the eriginal &
i workpiece ustg 3 cutting tool? ; :
ol ﬁﬁﬁm@mwm@aﬁﬂﬁmaﬁmmmm
TR ) St =5
E -a-.:\{’elding gfegn 1 b.Casting / BT
rt:"\IaChlﬂlﬂé' T } d Forging / TITerT
R R s e i e Lol MO SRS o et i TN

£ SRS 15% i O 391 6| SEferd @ fashd



- 44 Witha Enrcemace increases of carbon in stes 1,
&

| TR gleg @ 1Y

! 15 What 15 the ST unit of electric current?

ﬁ‘g’ﬂﬁﬁmwsq

nto the desired shape?
 fog ot

152

i a.Welding / aiesT

..................................................

47.Choose the most appropriate word:

Iam sormry the mistake.
[ L L S RS S
1
¢ a. at
:- .................................................
' -
i c. with
R o N L R C e v
H

48. \’\'hat is the chemical tormula for methane?

P RIETS 9 A8 2
1a.CH, CH.
§ C.N: /N

g TR & S G0 @ 0T

16.Which fabrication method involves pouring liquid metal into 2 mold and allowing it to solidify

T 1o H TRa o1 &1 Uo 919 & S1eM] 3R S8 Jifea AR & S g Jiad

49 Which type of heat transfer does not require any medium to transfer heat?

mmaﬂafrsmm
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the following tvpe of forces?

oS & S0 BT o

T I H XBRE TN &1 SIS e B

IE SS.Iesting of welds is done D e e = T e e e e e
i &7

TS DI e T e e

| 2:Radioeraphic inspection e Pensiion e B s
| ST R i | S e v
: ¢.Magnetic particle inspection ; id All ofaboxe """"""""""""""""""""""
; HU R ot 3

]
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51.When a vertical load is applied on a beam, the top & bottom layer of the beam are subjected 1o

""""""" IS EU S - i : 1 ression .
2.Top tension, bottom Tension 1 b.Top compresston, bottom c:mp ss10t

I T, Sien ¢u :  CIUSRRM, glcH i
c.Top Tension, bottom Compression / + d.Top compressior, bottom Tension /

<0 T, SieH HuRe i TADEEE, Sicq YN
Y 5 e .
! 32 What does the symbol "@" reépresent on a dimension i y engineering drawing?
L SIS T U HETH T gy SCiie ST GRIaT 87
ST ik P DO M i I et T
2 Difference | Bds : b.Diagonal / faof
i ¢.Diameter / g : d.Dimension . HGH
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ng the shapmc ofa metal throuvh ...... 3.'.’

dameter of the rivet or bolt.
ﬂL’ZTGWEm'TET 5 S Eﬁﬁmma‘m—tymma; .....

stance betweern centres of rivets or bolts shall be not less than ......... 1

58 Which law of f thermodynamics states that energy - cannot be created or destroyed, only

+ transferred of conv erted from one form to another?

15 U9 g B H RITAIRa 1 URaiad e o S g2

aBovle's law gd @1 a9 - b.Second law of thermodynamics \ﬁ)@ll‘liaﬁ
': DT Gasl
USSR ERS SELEEIRL LI LS e Tt ea ik
! ¢ Charles's law / gIeE @l aH  d First law of thermodynamucs 3 @l
: » ggal

ﬁammmﬂﬁmmﬁniaf‘&\m_i Ghlis!) 1 9y 31 o < G 5, Paat

1 39.Which refncrer:mt type is known for its low env {ronmental impact and is commonly usedas a

' replacement for older, ozone-depleting refrigerants?

| 1 1 KBRS TR A0 PH i um&ﬁuwmamMWw

miﬁﬁwaqﬁwq—mwnw&nﬁmmso

. ‘b, Hy droclﬂoroﬂuorocarboxb
: —ESMWRIWI(IQ)IQ'!

60.What is the ST unjt of pressure?
i W@ @IS sm%‘v

=
1 aNewtos .
i ot e b:
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g



! 62. Fill in the blanks / Fea R WY \ - (8
directly proportional to the strain

Law states that the stress applied toam

aterial 15

e sk
it undergoe%giﬁt:léi? 'th%e~ %:;istic limit. ® Wm % Uiex 3{'{5{ FIGGEIE] & Iy

R IECIRER NI ot e e i :
LB S £ N i of dvaving ared gard B
i b.Ina deck of 32 playing cards, what 1s the probability of drawing a ¢ ey
P52 TR U b1 O gl H, U A [REZR ﬂfﬁ‘*’f”aqf_g_:_—_—____________________;

 ¢. The fourth state of matter is known ag N
- c U EE ewqdamame

d. is the upward force exerted by a fluid on an object immersed in it.

et areer Tad g SR g4 aeg TR AT T W 1 SR @ Al aa gl

e. Integration of log.(x) is

log.(x) BT THIBYI g

b.Calculate the pressure at the bottom of a water tank that is 10 meters deep

oy 2

10 TIeX e U1 & ¢ & el U Ga1d i
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